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Time: 2 Hrs.

Below are given some questions,
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there are four possibie‘answers, out of which
select the correct answer and underline the sane.

(1)

(2)

(3)

w

(5)

(6)

What do we call a group of cells meant
for a specific function?

(a) nerve, (b) organ, (c) tissue,

(d) systen.

The Jjoint found in the skull is$
(a) moving, (b} fixed, (c) of Cup and
fall type; (d) of hinge type.

The length of the small intestine is:

For each question

(8)

(a) 1.5 meters, (b) 2.5 meters, (c) 7 meters,’

(d) 25 cms.

The chief organ of the male reproductive
systen iss

(a) Ovary, (b) Testicle, (c) fallopian tube,
(d) Vaza differntia.’

What cannot be felt with the help of skin?
(a) touch, (b) pressure, (c) cold, (d) smell.

By placing the object at the centre of
curvature of a concave mirror the image 1is
formeds

(a) at infinity, (b) behind the mirror,

(c) on the principal focus, (d) at the centre

" of curvature.
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(7)

(8)

A ray of light travels from a liquid into
air and if the angle of incidence is 50° then

“the angle of refraction will bes

(a) 0°, (b) 30°, (c) 50° () 60°
What is used in the simﬁle mioréscope?

(2) Convex lens, (b) Concave lens,
(c) Convex mirror, (d) Concave mirror

Give scientific reasons for any four of the

followings:

(1) The sun rays are parallel.

(2) The reflectors used in the street light
are convex.

(3) Industrial areas should be located outside
the cities.

(4) Leucocytes are the warriors of our bodies.

(5) A piece of paper can be burnt with the
help of convex lens.

(6) Milk is a balenced diet. |

(7) Weed should be removed from the field.

Answer any four of the following questions
as directed.

(1)

(2)
(3)

(&)
(5)
(6)

What precautions should be taken to stop
water pollution?

Explain, what a shalow is.

Which salient point should thetfarmer remember
in farming?

Which are the basic constituents of food? From
where do we get them?Give illustration of each.
Explain, what is immunity?

Explain how the lunar eclipse is formed,
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(B)

Q.4(a)

(b)

Q.5(a)

Below are given Gfups A & B. In group A are given
sensory organs and in group B are given the names
of ‘their parts. Write the number of the parts in
the brackets given near organs.

Group A Group B
1. Tongue ( ) 1. Ear-drum
2., Nose ( ) 2. Disphram
3. Ear «( ) 3. Nerve cell
4, Eye ( ) 4, Olfactory cell

5. Cornea
6. Taste. buds.

Give answers in brief to any four of the
followings.

(1) Which are the main parts of human body?

(2) Which type of muscle is the heart? Why?

(3) What should be done to keep Kidneys in
properly functioning?

(4) Give names of the organs of the respiratory

system.

(5) What is the main difference between germs
and virus?

(6) Give names of the natural agencies purifying
the air,

Draw the labelled diégrams of any two of the
followings
(1) Heart, (2) Ear, (3) Tongue

Describe any one of the following experiments
with neat diagram and state the laws involved
in each of them,

(1) Laws of reflection of light

(2) Laws of refraction of light.
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a.5(b) Differentiate between any two of the following (&)

(1) Natural menure and Artificial fertilizer

(2) Artery and Vein

(3) Auricles and Ventricles.



